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MARKING INSTRUCTIONS AND MODEL ANSWERS 

SCIENCE 

(Academic/Open) 

(Only for Fresh/Re-appear Candidates) 

mimimimi-ijh{kd ewY;kadu funsZ'kksa dk /;kuiwoZd voyksdu djdsijh{kd ewY;kadu funsZ'kksa dk /;kuiwoZd voyksdu djdsijh{kd ewY;kadu funsZ'kksa dk /;kuiwoZd voyksdu djdsijh{kd ewY;kadu funsZ'kksa dk /;kuiwoZd voyksdu djds    mÙkjmÙkjmÙkjmÙkj----
iqiqiqiqfLrdkvksa dk ewY;kadu djsaA ;fn ijh{kkFkhZ us iz'u iw.kZ o lgh gy fLrdkvksa dk ewY;kadu djsaA ;fn ijh{kkFkhZ us iz'u iw.kZ o lgh gy fLrdkvksa dk ewY;kadu djsaA ;fn ijh{kkFkhZ us iz'u iw.kZ o lgh gy fLrdkvksa dk ewY;kadu djsaA ;fn ijh{kkFkhZ us iz'u iw.kZ o lgh gy 
fd;k gS rks mlds iw.kZ vad nsaaAfd;k gS rks mlds iw.kZ vad nsaaAfd;k gS rks mlds iw.kZ vad nsaaAfd;k gS rks mlds iw.kZ vad nsaaA    

General Instructions :  

 (i) Examiners are advised to go through the 

general as well as specific instructions before 

taking up evaluation of the answer-books. 

 (ii) Instructions given in the marking scheme are 

to be followed strictly so that there may be 

uniformity in evaluation. 

 (iii) Mistakes in the answers are to be 

underlined or encircled. 

 (iv) Examiners need not hesitate in awarding full 

marks to the examinee if the answer/s 

is/are absolutely correct. 

 (v) Examiners are requested to ensure that every 

answer is seriously and honestly gone 

through before it is awarded mark/s. It will 

ensure the authenticity as their evaluation 

and enhance the reputation of the Institution. 

SET : A, B, C & D 
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 (vi) A question having parts is to be evaluated 

and awarded partwise. 

 (vii) If an examinee writes an acceptable answer 

which is not given in the marking scheme, he 

or she may be awarded marks only after 

consultation with the head-examiner. 

 (viii) If an examinee attempts an extra question, 

that answer deserving higher award should 

be retained and the other scored out. 

 (ix) Word limit wherever prescribed, if violated 

upto 10%. On both sides, may be ignored.    

If the violation exceeds 10%, 1 mark may be 

deducted. 

 (x) Head-examiners will approve the standard 

of marking of the examiners under them only 

after ensuring the non-violation of the 

instructions given in the marking scheme. 

 (xi) Head-examiners and examiners are once 

again requested and advised to ensure the 

authenticity of their evaluation by going 

through the answers seriously, sincerely 

and honestly. The advice, if not headed to, 

will bring  a bad name to them and the 

Institution. 
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egÙoiw.kZ funsZ'k %egÙoiw.kZ funsZ'k %egÙoiw.kZ funsZ'k %egÙoiw.kZ funsZ'k %    

 (i) vad&;kstuk dk mís'; ewY;kadu dks vf/kdkf/kd oLrqfu"B 
cukuk gSA vad&;kstuk esa fn, x, mÙkj&fcUnq vafre ugha 
gSaA ;s lq>kokRed ,oa lkadsfrd gSaA ;fn ijh{kkFkhZ us buls 
fHkUu] fdUrq mi;qDr mÙkj fn, gSa] rks mls mi;qDr vad 
fn, tk,¡A 

 (ii) 'kq)] lkFkZd ,oa lVhd mÙkjksa dks ;Fkk;ksX; vf/keku fn, 
tk,¡A 

 (iii) ijh{kkFkhZ }kjk vis{kk ds vuq:i lgh mÙkj fy[kus ij mls 
iw.kk±d fn, tk,¡A 

 (iv) orZuhxr v'kqf);ksa ,oa fo"k;karj dh fLFkfr esa vf/kd vad 
nsdj izksRlkfgr u djsaA 

 (v) Hkk"kk&{kerk ,oa vfHkO;fDr&dkS'ky ij /;ku fn;k tk,A 

 (vi) eq[;&ijh{kdksa /mi&ijh{kdksa dks mÙkj-iqfLrdkvksa    dk 
ewY;kadu djus ds fy, dsoy Marking 

Instructions/Guidelines nh tk jgh gSa] ;fn 
ewY;kadu funsZ'k esa fdlh izdkj dh =qfV gks] iz'u dk mÙkj 
Li"V u gks] ewY;kadu funsZ'k esa fn, x, mÙkj ls vyx 
dksbZ vkSj Hkh mÙkj lgh gks rks ijh{kd] eq[;&ijh{kd ls 
fopkj-foe'kZ djds ml iz'u dk ewY;kadu vius foosd 
vuqlkj djsaA 
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SET – A 
 

SECTION – A 

(Physics) 

  1. (B) çdh.kZu ls 1 

  2. (C) ukfHkdh; ÅtkZ 1 

  3. vfHkus= ysal jsfVuk ij fdlh oLrq dk mYVk rFkk okLrfod 
çfrfcac cukrk gSA 1 

  4. pkyd rkj dk çfrjks/k ¼dksbZ nksnksnksnks ½ % 
2
1  +

2
1 =1 

 (i) pkyd rkj dh yEckbZ ij 

 (ii) pkyd rkj ds vuqçLFk dkV ds {ks=Qy ij 

 (iii) pkyd rkj ds inkFkZ dh çÑfr ij 

 (iv) rki ij 

  5. thok'eh b±/ku ds tyus ij eqDr gksus okys dkcZu] ukbVªkstu 
rFkk lYQj ds vkWDlkbM vEyh; gksrs gSaA buls vEyh; o"kkZ 
gksrh gS tks gekjs ty rFkk e`nk ds lalk/kuksa dks çHkkfor djrh 
gSA blds vfrjsd dkcZu MkbZvkWDlkbM xzhu gkÅl ¼ikS/k ?kj½ 
çHkko iSnk djrh gSA 2 
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  6. pkyd rkjksa ds çfrjks/k 2Ω, 3Ω rFkk 6Ω  2 

                              3Ω rFkk 6Ω 

 

 lekUrj Øe esa 
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 vc PR  rFkk 2Ω ds çfrjks/k Js.khØe esa tksM+sa 
 SR = 2Ω + 2Ω = 4Ω 

  7. HkkSe ty laj{k.k ds ykHk % 2 

 ;g ok"i cudj mM+rk ugha] ijUrq ;g vkl-ikl esa QSy tkrk 
gS] cM+s {ks= esa ouLifr dks ueh çnku djrk gSA blls ePNjksa ds 
tuu dh leL;k Hkh ugha gksrhA HkkSe ty ekuo ,oa tUrqvksa ds 
vif'k"V ls >hyksa] rkykcksa esa Bgjs ikuh ds foijhr lanwf"kr gksus 
ls vis{kkÑr lqjf{kr jgrk gSA 

  8. (a) dk¡p dk viorZukad 
esa pkypdk¡dhkçdk'

 esa pky¼fuokZr½qok;dhkçdk'
=  

2 

  dk¡p dk viorZukad = 1.5 
  çdk'k dh fuokZr ¼ok;q½ esa pky = 3 × 810  m/s 
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esa pkypdk¡dhkçdk'
sm/8103

5.1
×

=  

  çdk'k dh dk¡p esa pky 
5.1

/103 8 sm×
=  

                                     sm/102 8
×=   

 (b)  2 

 

  fLFkfr − 22F  ls ijs 

  lkbt+ − oLrq ds lkbt+ ls cM+k 
  çÑfr − okLrfod rFkk mYVk 

 

  9.   2 
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 N, S, − pqEcd 

 1R , 2R  − oy; 

 1B , 2B  − czq'k 

 ABCD − vk;rkdkj dqaMyh 

 G → xSYosuksehVj 

 fl)kar %fl)kar %fl)kar %fl)kar % tc fdlh dq.Myh dks pqEcdh; {ks= esa ?kw.khZ xfr çnku 
dh tkrh gS rks dq.Myh esa fo|qr /kkjk mRiUu gksrh gSA 1 

 dk;Zfof/k %dk;Zfof/k %dk;Zfof/k %dk;Zfof/k % fp=kuqlkj ,d vk;rkdkj dq.Myh dks LFkk;h pqEcd 
N-S ds chp ?kqek;k tkrk gSA bl dq.Myh ds nks fljs oy; 1R  
rFkk 2R  ls tqM+s gksrs gS nks fLFkj pkyd czq'kksa 1B  rFkk 2B  
dks oy; 1R  rFkk 2R  ij nckdj Li'kZ esa j[kk tkrk gSA  

    dq.Myh dks bldh /kqjh ij pqEcdh; {ks= esa ;kaf=d :i ls 
?kqek;k tkrk gS rks nksuksa czq'kksa ds lgkjs fo|qr xSYosuksehVj esa 
çokfgr gksrh gSA  2 

 czq'k dk dk;Z %czq'k dk dk;Z %czq'k dk dk;Z %czq'k dk dk;Z % ckgjh ifjiFk esa czq'k 1B  rFkk 2B  Øe'k% fjax 
1R  o 2R  ls fo|qr /kkjk ys tkrs gSaA 1 

vFkokvFkokvFkokvFkok    

 (a) ¶ysfeax dk oke¶ysfeax dk oke¶ysfeax dk oke¶ysfeax dk oke    gLr fu;e %gLr fu;e %gLr fu;e %gLr fu;e % vius ck,¡ gkFk dh rtZuh] 
e/;ek rFkk v¡xwBs dks bl çdkj QSykb, fd ;s rhuksa ,d 
nwljs ds ijLij yacor gksa ;fn rtZuh pqEcdh; {ks= dh 
fn'kk vkSj e/;ek pkyd esa çokfgr fo|qr /kkjk dh fn'kk 
dh vksj ladsr djrh gS rks v¡xwBk pkyd dh xfr vFkok 
pkyd ij vkjksfir cy dh fn'kk dh vksj ladsr djsxkA    2     
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 (b) fo|qr pqacdh; çsj.kfo|qr pqacdh; çsj.kfo|qr pqacdh; çsj.kfo|qr pqacdh; çsj.k    %%%%    tc dksbZ pkyd fdlh pqacdh; {ks= 
esa xfr djrk gS vFkok fdlh fLFkj pkyd ds pkjksa vksj 
pqacdh; {ks= ifjofrZr gksrk gS rks bl fLFkfr esa pkyd esa 
fo|`r /kkjk mRiUu gksrh gSA 4 

  

  ¶ysfeax dk nf{k.k gLr fu;e %¶ysfeax dk nf{k.k gLr fu;e %¶ysfeax dk nf{k.k gLr fu;e %¶ysfeax dk nf{k.k gLr fu;e %     

  vius gkFk dh rZtuh] e/;ek rFkk v¡xwBs dks bl çdkj 
QSykb, fd ;s rhuksa ,d-nwljs ds yEcor~ gksaA ;fn rtZuh 
pqacdh; {ks= dh fn'kk dh vksj ladsr djrh gks rFkk 
v¡xwBk pkyd dh fn'kk dh vksj ladsr djrk gks rks 
e/;ek pkyd esa çsfjr fo|qr /kkjk dh fn'kk crk,xhA  

SECTION – B 

(Chemistry) 

10. 2H   1 

11. Solution − A 1 
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12. (C) Na (Sodium) 1 

13. The reaction in which one element displaces or 
remover another element from its solution is 
called displacement reaction. 1 

 eg. )()(4)(4)( saqaqsn CuZnSOCuSOZ +→+  1   

14. 3NaHCO  

 34322 NaHCOClNHNHCOOHNaCl +→+++  2 

15. The atomic size increases down the group. This 
is because new shells are added as we go down 
the group. This increase the distance between 
outermost electrons and the nucleus. Hence 
atomic size increases in spite of increase in 
nuclear charge.    1 

16. (i) Almost most of metals on burning combine 

with oxygen to form metal oxides. 1 

  eg. CuOOCu 22 2 →+    1 

 (ii) The impure metal is made the anode and a 

thin strip of pure metal is made the 

Cathode.  

  A solution of metal salt is used as an 

electrolyte. On passing the current through 

the electrolyte, the pure metal from anode 

dissolves into the electrolyte. An equivalent 

amount of pure metal from the electrolyte is 

deposited on Cathode.  2 
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17. (i) (a) Chloromethane   1 

  (b) Propanoic acid   1 

  (c) Propanol    1 

 (ii) (a) COONaCHCONaCOOHCH 3323 22 →+  

22 COOH ++   1 

  (b) OHCOONaCHNaOHCOOHCH 233 +→+  1 

  (c)  →+
Acid

233 OHCHCHCOOHCH  

OHCHOCH

O

CCH 2323

||
+−−     1 

OR 

 (i) Cartion compounds can be easily oxidized 

by combustion (Oxygen is added) 1 

  eg. ++→+ OHCOOCH 2224 22  Heat and  

light   1 

OR 

  Ethylalcohol can be oxidized to ethanoic 

acid by oxidizing agent 1 

 
Heat722

,4
23

OCrKAcidifiedor

HeatKMnOAlkaline
OHCHCH  →− COOHCH3   

 1 

 (ii) Unsaturated hydrocarbons add hydrogen in 

presence of catalyst such as Pd or Ni to give 

saturated hydrocarbons. 1 
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  C = C        R

H

R

C

H

R

CRH
Ni

−−− →+

|

|

|

|
2  1 

 (iii) In saturated hydrocarbons, in presence of 
sunlight chlorine is added in a very fast 
reaction. Chlorine replaces the H atoms of 

hydrocarbons one by one. 

  HClClCHClCH + →+ 3
Sunlight

24    1 

SECTION – C 

(Life Science) 

18. (C) ydM+h] ?kkl] dsys ds fNyds 1 

19. (B) Chemotropism ¼jlk;ukuqorZu½ 1 

20. UV rays (Ultra violet radiations) 1 

21. Binary fission 1 

22. Adrenal gland 1 

23. NCERT Pg. 137 (two functions) 2 

24. NCERT Pg. 134 (definition and example) 2 

R 

R 

R 

R 
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25. NCERT Pg. 119 (one function each of Medulla & 

Cerebellum) 2 

26. NCERT Pg. 144 (Inheritance of traits over two 

generations) 2 + 2 = 4 

27. Diagram with labelling and process of formation 

of urine. 3 + 3 = 6 

OR 

 Description of excretion in plants. 6 

SET – B 
 

SECTION – A 

(Physics) 

  1. (A) çdh.kZu 1 

  2. (D) ukfHkdh; ÅtkZ 1 

  3. ifjrkfjdk iqryh ds lkbt+ dks fu;af=r djrh gSA 1 

  4. fdl pkyd dk çfrjks/k pkyd rkj ds ¼dksbZ nksnksnksnks ½ % 
2
1 +

2
1 =1 

 (i) yEckbZ ij 
 (ii) vuqçLFk dkV ds {ks=Qy ij 
 (iii) çÑfr ij 
 (iv) rki ij 
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  5. ÅtkZ ds vkn'kZ òksr ds xq.k % 2 

 (i) çfr ,dkad vk;ru vFkok çfr ,dkad æO;eku vf/kd 
dk;Z djs 

 (ii) ljyrk ls lqyHk gks 

 (iii) HkaMkj.k ,oa ifjogu esa vklku gks 

 (iv) lLrk Hkh gks 

  6. ge tkurs gSa fd fo|qr'kfDr P = VI okV (W) 2 

 ;gk¡ ij V = 220 oksYV 

 /kkjk I = 5.0 ,fEi;j 

 P = 220 × 5.0 

    = 1100 okV 

 2 ?k.Vs esa eksVj }kjk mi;qDr ÅtkZ 

    = 1100 × 2 wh 

    = 2200 wh 

    = 2.2 kwh 

    = 2.2 ;wfuV 2 

  7. iqu% mi;ksxiqu% mi;ksxiqu% mi;ksxiqu% mi;ksx    %%%% 2 

 ;g iqu% pØ.k ls Hkh vPNk rjhdk gSa D;ksafd iqu% pØ.k esa dqN 
ÅtkZ O;; gksrh gSA iqu% mi;ksx ds rjhds ls ge fdlh oLrq dk 
ckj-ckj mi;ksx djrs gSaA fofHkUu [kk| inkFkks± ds lkFk vkbZ 
IykfLVd dh cksrysa] fMCcs bR;kfn dk mi;ksx jlksb?kj esa oLrqvksa 
dks j[kus ds fy, fd;k tk ldrk gSA 
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  8. (a)   

 

  fLFkfr − C ij 2 

  lkbt+ − oLrq ds cjkcj 

  çÑfr − mYVk rFkk okLrfod 

 (b) ge tkurs gSa fd ysal dh vfHklj.k ;k vilj.k djus dh 
{kerk 2 

  
f

P
1

=                 D 

  ;k 
P

f
1

=  

  ;gk¡ ij P = − 2.0 D 

  050.0
0.2

1
−=

−
=

D
f  ehVj 

                ;k − 50 lseh0 

  _.kkRed fpg~u crkrk gS fd ysal vory ysal gSA 

  9. fo|qr tfu= ds ckjs esa Set-A esa foLrkj ls crk;k x;k gSA 6 

¼ehVj esa½ 
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vFkokvFkokvFkokvFkok    

 (a) ifjukfydk %ifjukfydk %ifjukfydk %ifjukfydk % ikl-ikl fyiVs fo|qrjks/kh rk¡cs ds rkj dh 
csyu ds vkÑfr dh vusd Qsjksa okyh dq.Myh dks 
ifjukfydk dgrs gSaA 

 

  ifjukfydk dk mi;ksx %ifjukfydk dk mi;ksx %ifjukfydk dk mi;ksx %ifjukfydk dk mi;ksx % ifjukfydk ds Hkhrj mRiUu çcy 
pqacdh; {ks= dk mi;ksx fdlh pqEcdh; inkFkZ tSls − ueZ 
yksgs dks ifjukfydk ds Hkhrj j[kdj pqEcd cukus esa 
fd;k tkrk gSA bl çdkj cus pqEcd dks fo|qr pqEcd 
dgrs gSaA 4 

    (b) ¶ysfeax ¶ysfeax ¶ysfeax ¶ysfeax dk nf{k.k gLr fu;e % dk nf{k.k gLr fu;e % dk nf{k.k gLr fu;e % dk nf{k.k gLr fu;e % vius nkfgus gkFk dh 
rtZuh] e/;ek rFkk vxw¡Bs dks bl çdkj ls QSyk,¡ fd ;s 
rhuksa ,d nwljs ds yacor gksaA ;fn rtZuh pqEcdh; {ks= 
dh fn'kk dh vksj ladsr djrh gS rFkk vxw¡Bk pkyd dh 
xfr dh fn'kk dh vksj ladsr djrk gS rks e/;ek pkyd 
esa çsfjr fo|qr /kkjk dh fn'kk n'kkZ,xhA 2 
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SECTION – B 

(Chemistry) 

10. CuO  1 

11. Solution − C 1 

12. − Mg (Magnesium) 1 

13. Reactions in which there is an exchange of ions 
between the reactants are called double- 

displacement reactions. 1 

 eg. )()(4)(2)(42 aqsaqaq NaClBaSOBaClSONa +→+  1   

14. 2CaOCl  1 

 2222)( HCaOClClOHCa +→+  1 

15. The metallic character decreases across a 
period. Metals are electropositive i.e. they tend 

to loose electrons. The effective nuclear charge 
acting on valance shell electron increases across 
a period, hence tendency to loose electron and 

metallic character decreases.  2 

16. (i) Metals react with acids to give a salt and 

hydrogen gas.    1 

  eg. 22dil2 HZnClHClZn +→+  1 

 (ii) The reactivity series is a list of metals 

arranged in order of their reactivities. 1 

  K, Na, Ca    →    Zn, Fe, Pb    →   Cu, Ag, Au 

  Most reactive    Medium reactive   Least reactive 

1 

 →
decreasesReactivity
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17. (i) (a) Ethanoic acid   1 

  (b) Chloroethane   1 

  (c) Ethanol    1 

 (ii) A series of organic compounds in which the 

some functional group substitutes for 

hydrogen in a carbon chain is called 

homologous series.   1 

  eg. alkane homologous series 

  4CH         62HC      83HC       104HC  ….. 1 

  Methane   Ethane   Propane    Butane 

  Properties (Any two) :   1 

  (i) Mol. mass of two consecutive members 

differ by 140     

  (ii) Two members differ by 2CH  unit 

  (iii) Chemical properties remains same 

  (iv) Physical properties show regular variation 

OR 

  Most dist is oily in nature and oil does not 

dissolve in water. The molecules of soap are 

sodium or potassium salt of long chain 

carboxylic acid.   1
2
1  

  The ionic end of soap dissolves in water 

while the carbon chain dissolves in oil. The 

soap molecules form structures called 

miscelle.    1
2
1  
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  In miscelle one part of molecule is towards 

oil droplet while the ionic end faces outside. 

This forms an emulsion in water. The soap 

miscelle thus helps in dissolving the dirt in 

water and we can wash our clothes clean.1
2
1  

 
1

2
1  

Formation of miscelles 

SECTION – C 

(Life Science) 

18. (C) Aluminium Can, Plastic, Glass Bottle 1 

19. (D) Abscissic Acid) 1 

20. CFCs (Chlorofluoro carbon) 1 

21. Planaria or Hydra 1 

22. Thyroxine 1 
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23. NCERT Pg. 137 (two functions of ovary) 2 

24. NCERT Pg. 131 (definition & importance) 2 

25. NCERT Pg. 117 (definition & function) 2 

26. NCERT Pg. 145 (Explanation c  diagram) 4 

27. (i) Part of plant responsible for translocation-

Phloem. 1  

  Translocation sites - Root, Fruit, Seeds. 1 

 (ii) Process of translocation. 4 

OR 

 (i) Process of transport of O2 and CO2. 4 

 (ii) Reasons of advantages in terrestrial 

organisms. 2 

SET – C 

 

SECTION – A 

(Physics) 

  1. (B) n`f"ViVy 1 

  2. (A) ehFksu 1 

  3. çdk'k ds viorZu ds dkj.k ls 1 

  4. feJkrqvksa dh çfrjks/kdrk muds vo;oh /kkrqvksa dh vis{kk 
vf/kd gksrh gSA 1 

;k;k;k;k    

 feJkrqvksa dk mPp rki ij] 'kh?kz gh mip; ¼ngu½ ugha gksrkA 
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  5. thok'eh b±/ku ds tyus ij eqDr gksus okys dkcZu] ukbVªkstu 
rFkk lYQj ds vkWDlkbM vEyh; gksrs gSA blls vEyh; o"kkZ 
gksrh gS tks gekjs ty rFkk e`nk ds lalk/kuksa dks çHkkfor djrh 
gSaA blds vfrfjDr dkcZu MkbZvkWDlkbM xzhu gkÅl ¼ikS/k ?kj½ 
çHkko iSnk djrh gSA 2 

  6. 6Ω dks nks çfrjks/kdksa dks Js.khØe esa tksM+us ij 12Ω dk 
çfrjks/k çfrjks/k çkIr gksxk 

 
 66 +=SR  
       = 12Ω 

 bl 12Ω ds çfrjks/kd ds lekUrj Øe esa 6Ω dk çfrjks/k 
yxkdj 4Ω dk çfrjks/kd çkIr gksxk 
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1

12
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+=

PR
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4

1

12

31
==

PR
 

 Ω= 4pR  2 

  7. lkekftd leL;k,¡ %lkekftd leL;k,¡ %lkekftd leL;k,¡ %lkekftd leL;k,¡ %    blesa cM+h la[;k esa fdlku vkSj vkfnoklh 
foLFkkfir gksrs gSa vkSj bUgsa eqvkotk Hkh ugha fey ikrkA  

 i;kZoj.kh; leL;k,¡ %i;kZoj.kh; leL;k,¡ %i;kZoj.kh; leL;k,¡ %i;kZoj.kh; leL;k,¡ % blesa cM+s Lrj ij ouksa dk fouk'k gksrk 
gSA rFkk tSo fofo/krk dh {kfr gksrh gSA 2 
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  8. (a) ysal dh {kerk %ysal dh {kerk %ysal dh {kerk %ysal dh {kerk % fdlh ysal ds }kjk çdk'k fdj.kksa dks 
vfHklj.k ;k vilj.k djus dh ek=k (degree) ml ysal 
dh {kerk dgykrh gSA  

  ,d Mkbvk,d Mkbvk,d Mkbvk,d MkbvkWWWWIVj %IVj %IVj %IVj % ,d MkbvkIVj ml ysal dh {kerk gS 
ftldh Qksdl nwjh 1 ehVj gksA 2 

 (b)   

  

  çfrfcac dh fLFkfr − ftl vksj fcac gS ysal ds mlh vksj 

  lkbt+ − cM+k ¼foof/kZr½ 2 

  çÑfr − lh/kk rFkk vkHkklh 

  9. fo|qr eksVj 6 

 

foHkDr fjax P o Q 
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    ABCD − vk;rkdkj dqaMyh 
    P, Q − foHkDr oy; 
    X, Y − czq'k 
    N, S − pqEcd 
 fl)kUrfl)kUrfl)kUrfl)kUr    %%%% tc ,d /kkjkokgh pkyd dq.Myh dks pqacdh; {ks= esa 

j[kk tkrk gS rks bldh pqEcdh; {ks= ds yEcor~ Hkqtkvksa ij 
foijhr fn'kk esa ¶ysfeax ds okegLr fu;ekuqlkj cy yxrk gSA 
ftlls dqaMyh esa ?kw.kZu mRiUu gksrk gSA 

    dk;Zfof/k %dk;Zfof/k %dk;Zfof/k %dk;Zfof/k % fp=kuqlkj fo|qrjks/kh rkj dh ,d vk;rkdkj dqaMyh 
pqacdh; {ks= esa bl ij j[kh gS fd bldh Hkqtk,¡ AB rFkk CD 

pqEcdh; {ks= ds yEcor~ jgsA dqaMyh ds nksuksa fljs foHkDr oy; 
P rFkk Q ls tqM+s gksrs gSaA P rFkk Q ckgjh pkyd czq'k X rFkk 
Y ls Li'kZ djrs gSaA 

 tc dqaMyh ABCD esa /kkjk çokfgr dh tkrh gS rks AB o CD 
ij foijhr fn'kk esa cy yxus ds dkj.k dqaMyh ?kweus yxrh gSA 

vFkokvFkokvFkokvFkok 

    (a) HkwlaidZuHkwlaidZuHkwlaidZuHkwlaidZu    % % % % HkwlaidZ rkj ftl ij çk;% gjk fo|qrjks/kh 
vkoj.k gksrk gSA ?kj ds fudV Hkwfe ds Hkhrj cgqr xgjkbZ 
ij fLFkr /kkrq dh IysV ls la;ksftr fd;k tkrk gSA 

  bl rkj dk mi;ksx fo'ks"kdj fo|qr fo|qr bL=h] VksLVj] 
est dk i¡[kk] dwyj o jsfÝtjsVj vkfn /kkrq ds vkoj.k 
okys fo|qr laf/k=ksa esa lqj{kk ds mik; ds :i esa fd;k 
tkrk gSA laf/k= ds /kkrq ds vkoj.k esa fo|qr /kkjk dk 
{kj.k gksus ij lkaf/k= dk foHko Hkwfe ds foHko ds cjkcj 
¼'kwU;½ gks tkrk gSA 2 

    (b) ifjukfydk ls lacaf/kr mÙkj Set-B esa fn;k x;k gSA 4 
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SECTION – B 

(Chemistry) 

10. (A) C 1 

11. Solution − B 1 

12. (A) − Si (Silicon) 1 

13. The reactions in which a single product is 
formed from two or more reactants are known as 
combination reactions. 1 

 eg. )(2)(2)( )( aqls OHCaOHCaO →+  1  

14. OHCONa 232 10.  1 

 2232
Heat

32 COOHCONaNaHCO ++ →  

 OHCONaOHNaCO 23223 10.10 →+  1 

15. Metallic character increases down the group. 

Metals are electropositive i.e. they tend to loose 

electrons. Down the group the effective nuclear 

charge experienced by valance electrons is 

decreasing because the outermost electrons are 

farther away from nucleus. Hence these can be 

lost easily and metallic character increases down 

the group.     2 

16. (i) Metals react with water and produce a 

metal oxide and hydrogen gas. 1 

  eg. 22 222 HNaOHOHNa +→+  1 
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 (ii) The displacement reaction between Iron (III) 

Oxide ( 32OFe ) and Al is highly exothermic 

and the Fe is obtained in molten State. It is 

used to join railway tracks or cracked 

machine parts.   1 

  )(32)()()(32 22 slss OAlFeAlOFe +→+ + Heat 1 

17. (i) (a) Propane    1 

  (b) Bromoethane   1 

  (c) Propanal    1 

 (ii) (a) COOHCHOHCHCH
OCrK

3
Heat

722Acidified
23  →  

Ethanoic acid 

  (b) 22
42Conc.Hot

23 CHCHOHCHCH
SOH

= →  

OH2+  

Ethene 

1 

  (c) 22323 222 HNaOCHCHNaOHCHCH +→+

⊕Θ

 

Sodium Ethoxide 

1 

OR 

 Naming of a carbon compound can be done by 

the following method.    

 (i) Identify the number of carbon atoms in the 
compound. A compound having three 
carbon atoms would have the name 

propane.    1
2
1   
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 (ii) In case a functional group is present, it is 
indicated in the name of compound with 

either a prefix or suffix.  1
2
1  

 (iii) If the name of the functional group is to be 
given as a suffix, the name of the carbon 
chain is modified by deleting the final 'e' 
and adding a appropriate suffix e.g. a three 
carbon chain with an aldehyde group would 

be named in the following manner : 1
2
1  

  Propane  →
−e

 Propan  →
+al

 Propanal 

 (iv) If the carbon chain is unsaturated, then the 
final 'ane' in the name of carbon chain is 
substituted by 'ene' or 'yne'. eg. a four 
carbon chain with a triple bond would be 
called Butyne. If it has a double bond is 

would be called 'Butene'.  1
2
1  

SECTION – C 

(Life Science) 

18. (B) Producers 1 

19. (B) Involuntary  1 

20. 1%  1 

21. Plasmodium 1 

22. Insulin 1 

23. NCERT Pg. 136 (write two changes) 2 

24. NCERT Pg. 134, 135 (one difference for each) 2 
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25. NCERT Pg. 120 (Explanation of the process) 2 

26. NCERT Pg. 147-148 (Detail explanation c  at 

least 3 points) 4 

27. NCERT Pg. 108-109 (Name of part for 

translocation + Description of process) 1 + 5 = 6 

OR 

 NCERT Pg. 106-109 (difference → 2 marks) 

                    (Double circulation → 4 marks) 
  2 + 4 = 6 

SET – D 

 

SECTION – A 

(Physics) 

  1. (D) çdh.kZu 1 

  2. (C) ukfHkdh; ÅtkZ 1 

  3. cSaxuh] tkequh] uhyk] gjk] ihyk] ukjaxh rFkk yky 1 

  4. pkyd rkj dk çfrjks/k pkyd rkj dh ¼dksbZ nksnksnksnks ½ % 
2
1 +

2
1 =1 

 (i) yEckbZ ij 
 (ii) vuqçLFk dkV ds {ks=Qy ij 
 (iii) çÑfr ij 
 (iv) rki ij 

  5. ÅtkZ ds vkn'kZ ÅtkZ ds vkn'kZ ÅtkZ ds vkn'kZ ÅtkZ ds vkn'kZ òksr ds xq.k %ksr ds xq.k %ksr ds xq.k %ksr ds xq.k % 2 

 (i) çfr ,dkad vk;ru vFkok çfr ,dkad æO;eku vf/kd 
dk;Z djsa 
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 (ii) ljyrk ls lqyHk gks lds 
 (iii) HkaMkj.k rFkk ifjogu esa vklku gks 
 (iv) lLrk Hkh gks 

  6. rhuksa çfrjks/kksa dks lekUrj Øe esa lek;ksftr djus ij 2 
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  7. de mi;ksxde mi;ksxde mi;ksxde mi;ksx    %%%%    bldk vFkZ gS fd oLrqvksa dk de ls de mi;ksx 

fd;k tk,A fdlh dejs ls ckgj fudyrs le; fctyh ,oa ia[ks 

dk fLop cUn djds fctyh cpk ldrs gSaA cgrs uy dks cUn 

djds ikuh cpk ldrs gSaA [kkrs le; Fkkyh esa >wBk u NksM+dj 

vUu cpk ldrs gS rFkk vU; oLrqvksa dks mi;ksfxrk ds vuqlkj 

mi;ksx esa ykdj oLrqvksa dks O;FkZ gksus ls cpk ldrs gSaA 2 
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  8. (a)  2 

 

  çfrfcac dh fLFkfr − C ls ijs 
  çfrfcac dk lkbt+ − foof/kZr ¼cM+k½ 
  çÑfr − okLrfod rFkk mYVk 
 (b) ge tkurs gSa fd ysal dh vfHklj.k ;k vilj.k djus dh 

{kerk 2 

  
f

P
1

=                 D 

  ;k 
P

f
1

=  

  ;gk¡ ij P = − 2.0D 

  05.0
0.2

1
−=

−
=

D
f  ehVj 

  _.kkRed Qksdl nwjh crkrh gS fd ysal vory ysal gSA 

  9. ç'u dk mÙkj Set-A esa fn;k x;k gSA 6 

vFkokvFkokvFkokvFkok    

 HkwlaidZu ,oa ifjukfydk ds ckjs esa mÙkj Set-C esa fn;k x;k 
gSA        2 + 4 

¼ehVj esa½ 
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SECTION – B 

(Chemistry) 

10. ZnO  1 

11. Solution − A 1 

12. (B) − Al (Aluminium) 1 

13. If a single reactant breaks down to give two or 
more simpler products, it is called decomposition 
reaction. 1 

 eg 23 COCaOCaCO
Heat

+ →  1   

14. When electricity is passed through an aqueous 

solution of NaCl (brine) it decomposes to form 

sodium hydroxide. This is called chlor-alkali 

process because of the products formed − chlor 

for chlorine and alkali for sodium hydroxide. 1 

 )()(2)( 222 aq
yElectricit

laq NaOHOHNaCl  →+  

)(2)(2 gg HCl ++    1 

15. Atomic size decreases moving along a period. 

The nuclear charge increases on moving left to 

right in a period, which tends to pull the 

electrons nearer to nucleus and decreases the 

atomic size.    2 

16. (i) Soluble metal oxides dissolve in water to 

form alkalis.    1 

  eg. )()(2)(2 2 aqls NaOHOHONa →+  1 
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 (ii) Ionic solids consists of aggregates of large 

number oppositely charged ions in a 

regular arrangement. These ions are held 

together by strong  electrostatic forces of 

attraction. Hence considerable amount of 

energy is required to break the strong 

interionic attraction.   2 

17. (i) (a) Propyne    1 

  (b) Methanol    1 

  (c) Propanone   1 

 (ii)  H

H

H

C

H

H

C

H

H

C

H

H

C

H

H

CH −−−−−−

|

|

|

|

|

|

|

|

|

|
     n-Pentane 

 

 

1 × 3 = 3 

Isopentane 

 

Neopentane 
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OR 

 (i) Carboxylic acid react with alcohol in 

presence of acid to form esters (sweet 

smelling). This is called esterification.  1 

   →+
Acid

233 OHCHCHCOOHCH  

OHCHOCH

O

CCH 2323

||
+−−     1 

           (Ester) 

 (ii) Ester on treatment with NaOH form alcohol 

and sodium salt of carboxylic acid. This 

reaction is called saponification, because it 

is used to prepare soap.  1 

  COONaCHNaOHCHOCH

O

CCH 3323

||
→+−−  

OHCHCH 23+      1 

 (iii) Unsaturated hydrocarbons add hydrogen in 

presence of catalyst such as Pd or Ni to give 

saturated hydrocarbons. This is called 

hydrogenation. 

          C = C         + R

H

R

C

H

R

CRH
Ni

−−− →

|

|

|

|
2  

1 

R 

R 

R 

R 
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SECTION – C 

(Life Science) 

18. (B) Decomposers 1 

19. (B) Dendrite 1 

20. Unidirectional (one direction)  1 

21. Testoterone 1 

22. Stigma 1 

23. NCERT Pg. 129-130 (difference with example) 2 

24. NCERT Pg. 139 (Example of contraceptive 

methods and one importance) 2 

25. NCERT Pg. 119 (two points of their protection) 2 

26. NCERT Pg. 144 (Inheritance of traits over two 

generations) 2 + 2 = 4 

27. NCERT Pg. 95-96 (Definition, Explanation of 

photosynthesis in detail) 1 + 5 = 6 

OR 

 NCERT Pg. 98 (Definition, Explanation of 

nutrition in amoeba in detail)  1 + 5 = 6 

s 

 


